ДЕМОНСТРАЦИОННЫЙ ВАРИАНТ

АНГЛИЙСКИЙ ЯЗЫК

9 КЛАСС

1. Данному тексту соответствует один из следующих заголовков:

	Irish farmhouse cheeses are popular gift items. Other products to delight tourists  are Irish salmon, oysters and hand-made chocolates.
	а) Keeping to a diet

b) Irish Cheeses

c) Tourist Attractions

d) Irish Specialties


2. Данный текст относится к рубрике:

	Midlands. Cloudy and mostly dry, with some sunshine in places. Max. temperature is 12o.
	a) political news

b) letters to the editor

c) weather forecast

d) advertisement


3. Прочитайте текст:

Hector Johnson was a silent man of perhaps 38. Many years ago he was a sheepman, but then he got tired of his sheep, sold his ranch and moved to Santa Rosa. His only wish was to grow strawberries. When his strawberries began to ripe Hector took a heavy whip as all the children of Santa Rosa watched the berries grow and tried to get into his garden.

One day Hector saw the neighbor's children eat his strawberries. He took his whip and raised it above his head. The children started to run and soon disappeared. He turned round and stood motionless. He saw Panchitta, a young and beautiful girl, who was his neighbor's eldest daughter. He noticed the girl put a big red strawberry into her mouth. He was shocked so much that didn’t say a word.

After that a strange thing happened to Hector. For the first time in his life he was in love. He bought  a carriage and a fine horse and every day he drove out with the girl. He began to wear nice clothes, he took her to dances and parties. He tried so hard to be young. 

One day when he came up to Panchitta's house a bit earlier than he had promised he heard the children laugh. He looked into the open door and saw Panchitta, who was dressed in man's clothes. She was amusing her brothers and sisters. He at once understood whom she was acting, and quietly went back home.

Twenty minutes after the appointed time Panchitta came to his gate. She could not understand why he had not come. Then Hector came out. He was wearing his old clothes and he did not care how old he looked. "Go home and play some more theatricals, and I will try to forget you!" he said to the girl. But Panchitta did not move. And in her eyes he read that she would never leave   him even if he used his whip.

Укажите верную последовательность событий в тексте:
a) Hector Johnson falls in love with the neighbour's daughter

b) Hector sees  Panchitta amusing children by acting him. 

c) The neighbour's children steal Hector's strawberries.

d) Hector starts to grow strawberries.

e) Hector understands that   Panchitta is also in love with him.

f) Hector starts dating Panchitta and tries hard to look young.

4. Лексически данному контексту соответствует предлог:

	What station does the train arrive ___?
	a) in

b) to

c) at
d) on


5. Данному контексту лексически соответствует одно из предложенных слов:

	It is good when a child has a full family: both ____ and grandparents.
	a) mother

b) grandfather

c) relatives

d) parents


6. Верной реакцией на данный стимул является:

	How are you?
	a) Hello.

b) And you?

c) Fine. Thank you. And you?

d) Good.


7. Предложение слева означает:

	My niece is coming to see me on Friday.


	a) My aunt's daughter is coming to see me on Friday.

b) My sister's daughter is coming to see me on Friday.

c) My brother's son is coming to see me on Friday.

d) My brother's wife is coming to see me on Friday.


8. Орфографическая ошибка допущена в слове:

a) beautiful

b) attractive

c) lovely

d) prety

9. Синонимичными по значению являются слова:

	1) polite

2) greedy

3) intelligent

4) understanding

5) rude
	a) clever

b) sympathetic

c) good-mannered

d) mean

e) harsh


10. Противоположными по значению являются слова:

	1) polite

2) dry

3) fast

4) greedy

5) true
	a) slow

b) false

c) impolite

d) wet

e) generous


11. Лишним словом, не относящимся к тематической группе «fruits», является:

a) pears

b) carrots

c) grapes

d) pineapples
12. Данные глаголы (слева) сочетаются со словами 

	1) have

2) go

3) make

4) come

5) do
	a) a mistake

b) first

c) a meal

d) lessons

e) abroad


13. Данному контексту грамматически соответствует один из предложенных вариантов:

	Нer parents told her it would be cruel to keep a dog in _____   small flat.
	a) them

b) their

c) the

d) theirs


14. Данному контексту грамматически соответствует один из предложенных вариантов:

	There are ten _____ in our aquarium.
	a) fishs

b) fishes

c) fish's

d) fish


15. Данному контексту грамматически соответствует один из предложенных вариантов:

	You English is much ____ than hers.
	a) badder

b) worse

c) best

d) worst


16. Данному контексту грамматически соответствует одна из предложенных форм глагола:

	Sorry, I don't hear you well. Who ___?
	a) speaks

b) spoke

c) is speaking

d) is spoken


17. Данному контексту грамматически соответствует один из предложенных вариантов:

	Who invented _____?
	a) written

b) writing

c) to write

d) write


18. Предложение слева означает:
	They had already started dinner when we came.
	a) We came and they started dinner.

b) They had finished dinner when we came.

c) They were having dinner when we came.

d) We had already come when they started dinner.


19. Глагол обозначает будущее запланированное действие в предложении:

a) He is coming to see us on Tuesday.

b) He would like to see us on Tuesday.

c) Perhaps, he will come to see us on Tuesday.

d) He comes to see us on Tuesday.

20. Порядок слов верен в предложении:

a) What language he speaks? 

b) What does language he speak?

c) What does he speak language?

d) What language does he speak?

21.  Верными окончаниями данных предложений являются:
	1) There is an exam tomorrow, 

2) Maths is a difficult subject, 

3) There is nobody in the room,

4) It isn't your work,
	a) is there?

b) isn't there?

c) isn't it?

d) is it?


